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Once upon a time, a rich man is | measure | wanted to know the area of The length of microcosm is 1/180 of former length.

the house. To make a cane to where it was a short walk from the west of 180x’=x

gate about 54 meters, this time walked to the south of the gate. x=270

Then, | was able to see through the wand where it walked about 1350 [2x is the length of a side because [x_ is half of mansion’s side.
meters. So the place where it was attempted to walk and facing the house Accordingly, a side length of mansion is 540m

was transferred to a vinegar.

0.3meters 54 meters, 7.5meters 1350 meters and wrote a microcosm, and Solution2

measure it by applying a ruler in the figure, because it is 270 meters from The ratio of real length and length of microcosm is 180:1

the center of the house to the gate, a-four way was found 540 meters. And EC=x’=1.5[m] on microcosm in quadrilateral.

wrote a 270 meters square in a three square, it was weighed by or put off x:x’=180:1

or shortened it. x=180x’

x=270

Also, | stay in the 540 meters, walk 54 meters from the west of the gate to
A side is 540m because [2x_| is mansion’s a side.

open the gate, south of the gate was found to be a distance of appearance
on street. It reach decision to reset the fast after copying in microcosm
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